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8H 26 H 9A6H sEE AR RAEERT Fehy—X T (10 Ki#) T (10 K T (20 i)
8 A 26H 9A6H BLEE AR RAERERET AN T (10 RiH) TR (10 5KiH) T (20 KiH)
8H26H 9A6H sEE MRRAEEERET (NP T (10 Ki) TR (10 RiH) THEH (20 RiH)
8 A 26H 9A6H BiEE ARIRABERT el T (10 i) & (10 i) TR (20 i)
8A26H 9A6R BEE MARRAEERT g5 THEH (10 KiE) TR (10 Ki) T (20 KiH)
1R218 2A3H BLEE MRNRAEERET KNI & THEH (10 RiE) T (10 Ki) T (20 KiH)
1A21H 2A3A siEE ARNIRABERT BEF T (10 i) T (10 i) TR (20 i)
1A21H 2A3H BULERR BEE=8T REEMNTA TR (10 ) TR (10 i) THEH (20 i)
1R218 2A3H BLEE )R BAR EER A FET 72 1] THEH (10 RiE) T (10 Ki) T (20 KiH)
1A21H 2A3A sEE AR RAEERT FAEET T (10 i) & (10 i) TR (20 i)
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REA BEHR it EROFEM BESH sty 134 ; Eiki s SAFFN i, Ei ki AP I
$I8A B IRFEEFD R (FEFRBF) -137 At
8 H26H 9A6H INIFEr #MRIREEL™ <hn= THaH (4.6 Ki) T (3.4 Kii) THRH (8.0 Ki)
8H26H 9H6H BUERT REBTF™ HEIRERA K T (3.6 Kiw) T (2.8 Kif) Tt (6.4 Kiw)
8 A 26H 9A6H BUERT HEREBEAMAKRET HEHREL T (4.2 KiH) TR (4.1 Ki) TR (8.3 Kim)
8 A 26H 9A6H BULERR RHBETFd®H AR K THEH (3.1 Kif) TR (4.0 ki) TR (7.1 R
8H 268 9A6A BLEmT REFRLAT IR K T (3.6 K Tt (3.0 Kif) T (6.6 Ki)
1A218 2A3H MIFRr HRE BT 72 1] TR (4.3 Kl Ti&H (3.8 FKih) THEH (8.1 K
1R218 2A3A BULERR IWRLBRETILTRH 7% 1] Fi&H (3.8 Kif) TR (4.9 i) TR (8.7 Kifh)
1A21R 2A3AH BULERR BEREBsE™ KE TR (4.2 Ki) THRH (3.8 i) TFRH (8.0 Kiim)
1A218 2A3H BLEE HFRERENT KEREE THEH (2.6 K T (3.2 Ki) THEH (5.8 Kif)
1A21H 2A3H BUERT RHRMAAME L RET AR K THRH (2.6 Ki) T (2.9 Ki) THEH (5.5 Ki)




